Pre-Calc Exponential and Logarithmic Functions 6.1 - 6.8 Review
1. f(x)=2x-5  gx)=3x>-4
a)) find (f °g)(2) b.) find (g°g)(-3)
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c.) find (go f)(x) d.) Domain of (go f)(x)
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2. Determine if each is a one-to-one function or not a one-to-one function.

— /]

Fumc-\—n'ér\ . /

F—(A\/\ Q-\-n Qwn

-— I:/ +'. “
bt NOT - bor NoT 11 e
ahli ' S ,— |
T+ Fals +he Hovizonts | s - [SAsses +he H‘Ow'z_

Same

Line Test. L-’V\e Tess+



Swipeh xt

3. Determine the domain of f(x), then find it@ind the domain and range of both
f(x) and its inverse.
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4. a.) The graph of f (x) 1sglver@ b.) Determine the exponential equation of
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5. Convert the logarithmic expression into an equivalent expression using an exponent

a)log, 4=y b) log.(x+4) =3
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6. Convert exponential expression into an equivalent expression using a logarithm
a)b* =5 by 5" =8
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7. Determine the exact value
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8. Write the expression as a single logarithm. Express rational powers as roots.
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9. Write the expression as the sum or difference of logarithms. Express powers or roots as
factors.
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10. Solve each equation for all real solutions. Express-in exact form.
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11. Evaluate each logarithm. Round to 4 decimal places.

CHANGE OF RASE
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12. Solve each exponential equation. Express as exact and approximate answers rounded to
3 decimal places.
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13.Find the value of $200 invested at 10% interest compounded quarterly for 8 years.

A: ZOO(\_‘_ _525(‘48\

(32)
200 (1.025%)

:(*440. 75

1




14. How long will it take for $200 to grow to $1,500 w1th a continuously compounded rate
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15. What is the initial investment required if an account grows to $3,000 at 5.3% interest

compounded monthly in 10 years? (2 -10)
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16. How long does it take for $100 to triple in value if the
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The number of bacteria on a countertop after t hours is given by the equation

N = 950"
17. How many bacteria are prese)nt after 6 hours?
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18. How long will it take for the count to be 5,000 bacteria?
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There were 900 Polar Bears in the wild in 1972. In 1997, there were 2045 bears.

19. Write an equation for the number of bears t years after 1972 assuming uninhibited

growth. (k-25)
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20. Use the equation found in question 11 to estimate the number of Polar Bears
Thot's Y3 years afier [172. (03zg=Y3)
- 900 €

A 3) (988 P‘é‘ar loemr,r

N 20’:



